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Solve questions from any two sections of your choice.
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ANSWERS C
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. Calculate 6231+2787 by rounding each
number to the nearest:

1000
100
50
10

Which gives the most accurate and least
accurate answer?
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4. 2700 people visit a cinema in one day. About
one third of the visitors are children. The rest
are adults. The cost of the tickets are:

Adults £9.80

Children £5.40
Use rounding to estimate how much money
the cinema took on that day.
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5. Sheffield’s Ponds Forge has the

deepest diving pool in Europe.
The pool is 5.85m deep.
A diver jumps from the 10m
board and falls 14.67 m in total.
A diver jumps from the 3m
springboard and comes within
1.56m of the bottom of the pool.
Which diver comes closer to the
bottom of the pool?
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1My rumber has exactly 300 hundreds n it 29 301

My number s thiry one thousand 1o the
nearest ten 31004

e s ey thousan 0 e s
i 00

My number s twenty eight and  half
thousand to the nearest five hundred. 8672

2.909.9099,99.999
656410, 1 tenth of 6556, 665
555,755, 5065, -5.05
0011,0.12,13+100
3,600+ 3000 = 9000
6200 + 2800 = 9000
6250 +2800 = 9050
230+ 2790 = 9020

Rounding to 10 gives the mst accurate answer. Rounding 1000
and 100 gves the least accurate answer.

4. Aduls 1800 x £10= £18 000, Chicren 900 x £
Total = £22 500, Other similr answers re possile
5. The dver from the 10m board {118 from ot

500,
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Put these sets of numbers in order,
starting with the smallest.

© 31713
© 24229
© 18555
© 66727
© 39353

17313
22492
15585
67276
35593

1737
22924
18518
67627
35935

13337
24292
15558
66772
39335
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Copy and complete.

© 23750 +[_|=29750
@ s6018-[ |=16018
© 92843+ |=93543
© 14307 -[ |=13807
@ 45962 +[ |=105962

@ 182610 |=174610
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Put these numbers in ascending order.
© 16017 117106 11670 11607

© w33 anem 4w 838

© 14774 747747 78747 747477

© 2739379 2733937 2937397 2797793
© 5265256 256565 5255665 5262525
© 1001010 1010010 1101001 1001001
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Copy and complete.

@ 721386 - | =715386
© 530274+ | =1330274
© 2104509 -] = 2095509
@ 1649328 +[ | =1719328
@ 3015694 —[ | =15694
® 6908830 +[ | = 6913830
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1. Match the statements to the numbers,
explaining your choices:

My number has 3 hundreds. 28 672
My number is thirty one 29 301
thousand to the nearest ten.

My number is thirty thousand
to the nearest ten thousand. 201902

My number is twenty eight and a half 31004
thousand to the nearest five hundred.
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2. Order these sets of numbers from smallest
to largest:

99 9.09 9.099 999




